Complete the following additions:

D HTU > HTU Y HTU
1 6 3 3 47 2 58
+ 7 2 + 3 8 +1 27
> HTU  HTU " HTU
3605 1 49 7 52
+ 8 4 + 47 +1 83

9) There are 482 cars and 127 lorries stuck ina
traffic jam. How many are held up altogether?

10) Rachel buys a TV for £378.58 and a DVD

player for £44.05. How much does it cost her
altogether?

Complete the following additions:

D HTU > HTU Y HTU
16 3 3 47 2 58
£ 7 2 + 38 +1 27
> HTU © HTU 7" HTU
365 149 7 52
+ 8 4 + 4 7 +1 83

9) There are 482 cars and 127 lorries stuck ina
traffic jam. How many are held up altogether?

10) Rachel buys a TV for £378.58 and a DVD

player for £44.05. How much does it cost her
altogether?

(C) 2012 PrimaryClass.CO.uk

4)

- = T
N A A
o O C

8)

— W T
o~ o~
O M C

4)

—_ = T
VIS |
o O C

8)

- W T
o o~ -
O » C






